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GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering Semester —VI Examination Dec. - 2011

Subject code: 360606 Date: 08/12/2011
Subject Name: Concrete Technology
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Instructions:
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1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered Authentic.

(@)

(b)

Enlist various types of cement and explain how much of them useful in
specific type of work.

Define workability. Enlist methods of measurement of workability and
explain one of them.

What is curing? Explain different methods of curing.
Define admixtures. Enlist and explain admixtures with their use.

OR
From following ten compressive strength test results (N/mm?)
25,23,22,24,27,25,26,28,29,23 , Find out (1)Mean strength (2)Standard
deviation (3) Coefficient of variance

Enlist different special concrete and explain light weight concrete.
Explain causes of corrosion of steel in concrete and preventive measures
of it.
OR
What is quality control of concrete and describe the factors affecting it.
Enlist Non-destructive test and describe rebound hammer test.
Enlist test of strength of aggregate and explain aggregate impact value
test.
Explain compaction of concrete and method of compaction.
OR
Enlist methods of concrete mix design.
Design a concrete mix from following data using 1.S. method.
(1) Target mean strength = 25 N/mm”
(2) Water/cement ratio = 0.48
(3) Water required for 1 m® concrete = 186 liter
(4) Percentage of fine aggregate in total volume of agg.=34%
(5) Specific gravity of cement = 3.15
(6) Specific gravity of fine aggregate = 2.63
(7) Specific gravity of coarse aggregate = 2.68
(8) Entrapped air =1%
Explain creep and factors affecting creep.
Explain principal causes of cracks and remedial measures of it.
OR
List the journals of concrete technology.
Explain properties of bouge’s compounds.

Write difference between ordinary concrete and special concrete.
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